306 6

7 26
)
1,064,92 1,145[25
38,533 1,848,[38
3,178,47 157651
214033 55
170229 225499
243115 112736
1912Q6 82,632
5, 44 150170
73,33)9 110720
51,348 98,00[0
3,050,/00 501333
9, 34 312145
8,282,37 4,741,065
(1 257518
322596 19,046
61,14[7 277524
7,94 5,018,/30
356089
2, B85
1,89 (1 2000Q0
4828Q4 (1
49 50,00[0
1,238,42 4,536,49
(2 6, 06 4,536,49
(3 4,586,409
9,94 4,786,409
2, B (
67,7314 (1 69
6 (2 979Q9
105816 96940
56,95
67734
173443
1,418,01 , 686,08
9,70R,39 , 700,39




(1)

(2)

(3)

(4)

10

Hi=3

7%
Hi=d
7y

29

28



(5)

558, 467



